~KOHZU

Smart
Alignment




I —
XYOBERFPSAAXY NATF—IIU—-R

B

TP A4X

BIGEEXY(alfts)

YRA-070 YRA-071

®10 Thru
4M3 Depth 5mm - f— =il
4-M4 Depth 7mm 8 | ]
o G olol 8§
&% sle| &
Ny %
o &
40
60

\HE
™)
<~
o

®20 Thru

|

e

:
213 Depth omm_ B Ll 625
44 Depth 6mm 1\ ofoel *

(140)

40
60

60

YY=XRINDTSAAY NRAT=Y
I INA ZADHEIIICERE

o Step3EiRIc THIL R (I
ZEARE

YRA—-070
70mmXx70mm

PK513PB(0.35A.18)
FUIVIINE—T—

450,000H4

ShRIGE— I TEEKICKIILOTHE
SHESERON-RICRE

YRA—-071
70mmXxX70mm

PK523HPMB (0.75A /#8)
FUIVIIE—Y—

460,000H




NMKOHZU

YRA-131 NEW YRA-200

4-M5 Depth 6mm
4-M4 Depth 6mm X 4-M10%1.0 Depth 10mm
-4 Depth 5mm ———mm[_[[[] 426 Depth 8mm
,,,,,,,,,,,,,,,,,,,,, f

4. ;
IS 4-M3 Depth 4mm (
S L Y
N
22 22 \
e l&_‘\\ 5 ©48 Thru
= ) Uy
\ T — 4-M3 Depth 4mm
él —1 404 Depth 5mm Z
N - g 4-M4 Depth 6mm g
g > 0 oS 4M5 Depth 6mm 28128898
& o|a| ol _—
|| & =| O
" 9
& —
50
60 2-¢5 Depth 4mm
90 -
110
130
20) 164 32
(216)
© ol
® 0|
0
i

f..wso,.*

R RP D I/N\DEY ShEICRE Y U—-XEXDEMESE LR
BARIEE— I EEERICH LTI EE D —2J86Y) b BIFICHEEL D B ERfICRE
SARIEE— I EEERICH LTI EE
YRA—-131 YRA—-200
130mmX130mm 210mmXx150mm
""""""""""""""""" +5mm-*5° | #5mm-#5
o Ry u—Rtem | R—uRY U—R10mm
""""""""""""""""" 05um/step | obum/step
"""""""""""""""" 0000337 /step | 0000249 /step
| 1omm/sec (0kpps/half® | 10mm/sec (20kpps/half®
"""""""""""" 6.74°/sec (20kpps/halfi® | 498/sec (20kpps/half®)
"""""""""""""""""" <2um 1 =2um
"""""""""""""""""" <0005 | <o0005s
"""""""""""""""" <igm/100m | <3uym/0mm
"""""""""""""""""" <+05ym |  =+05um
"""""""""""""""""" <oo001° '\ """""<o0001
"""""""""""""""""" <tigm 1 =1ium
"""""""""""""""""" <0005 | """"<o005
""""""""""""""""" <Sym/+s5° | ssym/xs
""""""""""""""""" <3um/+£5 1 sspm/xs
| odtarcsec/Neem | X7518:0.03arcsec/N-cm  Y75):0.05arcsec/N-cm
""""""""""""""""" 196N (20kgf) | 343N (3%skgh
"""""""""""""""""""" -1 19%IN(00kgh
"""""""""""""""""""" 45kg 1 siskg
"""""""""""""" PK523HPMB(0.75A/48) | PK523HPMB(0.75A/48)
FUITVIYIE—Y— FUITVIYIE—Y—

"""""""""""" RP13A—12JG—20PC £O | RPI3A12JG20pC kOE
"""""""""""""""""" 7000004 | 7800008




S R—IL R

NEW

RAO5A-TO1

RAO7A-T02

& a -

Eilpay
=LY A X

]

AT —Y

50 . CW Limit Sensor
Home Position

(76.5)

4-M3 Depth 4mm
4-M3 Depth 4mm

©17 Thru 1oz _
EEGET
<)
70 (22)
60 CW Limit Sensor
‘ | 40 | ‘ Home Position .ﬂ.‘
7& T L Fs CCW Limit Sensor =
T & ccw
=gl e
@ 1 . 3 (200) |
(S | =
o‘ \]6 S o
# 4-for M4 screws
g Shaft length 5.5mm
4-M4 Depth 5mm Tapping hole for M5 screw
mount from back side.

4-M3 Depth 5mm

(0.4))29.1](0.5)

RAO5A-TO1
50mmXxX50mm

¥192,000

(139)

1 \ 4-for M4 screws

s Shaft length 5.5mm
Tapping hole for M5 screw
mount from back side.

(0.4)]29.1(0.5)

4-M4 Depth 6mm
4-M4 Depth 6mm

4-M3 Depth 4mm
T

HERRGNST https://www.kohzu.co.jp

| BELBDERE \E-mail:sale@kohzu.co.jp

RA07A-T02 RA10A-T02
______________ Z0mmX/70mm | 100mmx100mm_______
__________ JORO- o7 T .
+£5
_____ IYITION—HH Rbxy
_____________ 0.000682°/step | 00005"/step _______
________________ 13.64°/sec | 10%/sec ...
=0005" ol =0.003" ..
_____ L =0002
_________________ =0.005" ..
________________________________ soum/£5° .
________________________________ soum/+5°
____________ 0.15 arcsec/N-cm_______| ... 0.05arcsec/N-cm_______.
_______________ 785N@Bkegh) | 147NQSkgh
L ZEEE ..
___________________ O%g [~ 153kg
________________________________ PKS23HPMB_ .
____________ RP13A-12)G-20PC .
| ¥198,000 | ¥280,000
4 ™\

/T T215-8521  #RIR)IIEHREXREAR2-6-15
TEL.044-981-2131 FAX.044-981-2181
ABR3ZE T532-0011  KERFFAMRATE) IXFERE6-3-25
tBHELEIVERE3R

TEL.06-6755-9222 FAX.06-6755-9223 .




